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Wexler/Fennelly
Flow of Genetic Information Worksheet 1
Date:

Instructions: You are given the nucleotide sequence of a gene that encodes a short protein.  Proteins are chains of amino acids.  Only the 5’ to 3’ coding strand is shown.  Your job is to predict the sequence of amino acids encoded by this gene.
Notes:

A. Recall that each amino acid is encoded by a series of three nucleotides called a codon.  
B. Also recall that a given amino acid can be specified by more than one different codon (degeneracy in the genetic code).  
C. Also, the first codon is always ATG, which codes for methionine, and the last codon is a “stop codon” which does not code for any amino acid.
D. For convenience, we are ignoring the fact that genes are first transcribed into mRNA for decoding into protein at the ribosome.  Be aware that RNA uses the base U (uracil) instead of T (thymine) in its nucleotides.  Most codon tables use U instead of T.
Step 1) Count how many amino acids are encoded by this gene (shown below)
# codons in this gene = ____________

# amino acids in the encoded protein = _____________

Step 2) Use the codon table below to translate each codon into an amino acid.  Write the 3-letter code for each amino acid underneath its codon below.
5’ ATG    CCC    GCC    ACT    TAC    GGT    AAA    AAT    CGC    GAA    TCC    TTT    ACA    AAG    GCG    AGA
    TAC    CCG    TAT    CTA    ATA    ACG    GCA    GAA    GGC    CGA    TTC    CGG    GGG    GTG    GTT    TGA 3’
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